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B FEHERT X 1 74, 564, 720
HEELT = 1 2,582,949
HRHEI T = 1 45,160 | #EH! 40 m3
T EROASN OB /NS (BEHE)
HRHEI T = 1 45,160 | #EH! 40 m3
T EROLASN OB /NS (BEHE)
BEARRE AT = 1 570, 586 | B (STE) ME 1 100 m3
2. 5mAT ;
EuNE R 20 m3
2. 5mPL 4. OmARTi ;
EuNE R 20 m3
4. 0mPL E
BEARRE AT = 1 7,804 | &I (FELR) XL 10 m3
2. 5mPL 4. OmARTi ;
KB L ENET. 2 1 1,463,342 | +» 5 161 ga
it R 0 5 BHMRGEE (342) 3t ;
+o3 1,346 ga
Mttt o 9
TREE 30 m3
Rkt A = 1 54,047 |VETEET (8] 150) 40 m2
BRI v+ R OWYE + kit
LRI (3% 1350) 50 m2
T i S O I BRI
fliAE T = 1 298, 150 | i1 HiAri 80 m2
AEHEHE L 100m2 AT ;
B LAY 70 m2
JE3cm & EMAT T 100m2ATH ;
P v T = 1 98, 700 | ibAETEN 30 m3
0 Cabl- EHIRY £5Te) ;
YUY 30 m3
EEEET = 1 7, 800, 090
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TA7 7 Ml T X 1 7,800,090 | T/E &AL (HaE - BIE ) 1, 600 m2
BTy r77 RC-40 A VW E 150mm ;
R (HEGE - BRI ) 5 m2
(No. 135f3T)
A LA RM-40 4E BV JE 100mm ;
g (I - BIF ) 3, 490 m2
AR EET A2 (20) &H3EE 50mm 3. Omid ;
HEKHEEY T = 1 8, 589, 673
e+ T 2 1 714,113 |FRIRY 1 X
+4)
i 1 X
+4)
i 1 X
+4)
i 1 X
-
HEL 1 2V
HEL 1 2V
A Lavy)-h 1 2V
(No. 135f3T)
18-8-40 (B JF) ;
HmEEE 1 =X
oAb E 1 =X
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 X
AR T = 1 3,307,951 |7 VE¢AMUBLARIE 311 m
300% ;
7" Vv A NUBRMAITE: 18 m
45071
HIET = 1 411,785 | BufHE g 1 m
6007 ;
- MefE 9 m
6007 FER ;
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AR v T 2 1 317,730 | BUGFT HAE KM 1 (£
BUGHTHAT 18-8-25 (BrdF) IEHEEMIESE 600
X 600X 600 :
BGHT K 1 (£
BUGHTHA 18-8-40 (BidF) IEHERMIESE 600
X 800X 1400 ;
ES 1 i
ay))-bEE #7600 X 6000 (FCH)
ES 1 i
ay))-bEE #7600 X 800 (2FH)
EHEY 3 &l
Capsis<9)
W300 619 ;
7 VR AN = T = 1 2,276,381 |7 V¥4AME 94 6 m
PIlE 2m P& 1.8m ;
A 1 X
— R
Fetfgav ) -h 2.3 m3
18-8-25 (B ) ;
R -} 1.6 m3
18-8-25 (B ) ;
avHERRE 1 G
5007 ;
BT L Y 1 140, 300 | BUSHT/K S & m
24-12-25(20) G&JF) ;
HEAK L = 1 108, 000 | fiEEsK 1 T
(A)
VP-300 ;
Fam e T = 1 38,041 | Hp 1 =
— A
VAR 0.3 m3
18-8-25 (B ) ;
BEAKE 3 m
(b1 BL22)
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VP-150 ;
HEKE ML 2 m
VP-150 ;
552 )Y =} =X 1 1,275,372 |3V av))-} 378 m2
18-8-25 (20) (&4F) 27 -MEMEIHE#E =1
Ocm ;
Bh AT L 2 1 19, 742, 933
PEANIBA AT L X 1 3,766, 040 |4 =} b=p 308 m
B Gr-C—4E /7 b—~" =Y 2 100mBk | HRER
MHIEE
B = v 48 m
WALE, Gr-C-2B 77 V—~" =" 2 21mPA F100mATi
Hi R A I
B 1E A T = 1 15,976,893 | HRZ L7x/2 133 m
Mg 2. 0m ACE 7= N 47" Buf
FEXH 82 m
TIEEAIR
HEAT B MR T = 1 4,983,473
e+ T 2 1 108, 739 |FR¥E Y 1 X
+4)
HEL 1 2V
HmEEE 1 =X
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
¥ LWLy 1 X
B EY T = 1 4,874,734 | B S| [RAE & FLAE 1 e
(&R H-E0kR) =B
18-8-40 (B ) ;
1 & il PR A 1 R 2 e
(&R H-E0HR) R RE A
24-12-40 (& F) ;
i S il BR A 1 [ 1 i
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(B0 ERE R
AERER

e & T PR ¢
(&P BRESR
WETEVR

4, 446,

913

80,

454

REE D
T

HRL

FEHEIE

2t

ST FTHERE T (HE Y HAL)

3, 623,

070

/N R

0. 5mPA 0. 6mATiE 18-8-40 (B 4F) ;
GIWAR-W: i

Im% 8 X 2mAi 18-8-40 (B JF) ;

S| B

51 m3

2t

T FTHERE T

18,

024

BL¥T Kimary ) -1
18-8-25 (k) ;

0.3 m3

2t

7" Vv A MAERE T

725,

365

7" Vv A MgERE
1.Om&E#EZ22. 0mLA T ;

2t

A1+ 77wy (3R) T

184,

089

2t

VR VAR PV RN EVZA R VAR DY E <)

184,

089

Bl HT FAfav ) -
(1%Y)

18-8-40 (7547) JENE 45.4cm &S 30cm ;

Bl HT FAfav ) -
(2%1)

18-8-40 (75 47) JENE 43.7cm & E 30cm ;

Bl HT FAfav ) -

(3%)

18-8-40 (754F) JEIE 52cm & 30cm ;
/) =h (R%0) 77 ny ) il
BT Rfgav ) -h

18-8-25 (Fi4F)

TAZIEE LN )R
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MRE T = 1 316, 400
JE KPR T X 1 316,400 |EHSERE (A) 2,000 m2
FREASy 20 m3
X [E L = 1 457, 940
X IR T 2 1 457,940 | FE LK iR 1, 400 m
R TEh FE8R 15em JE 1. Smm HEAPESEE A
s ALER T = 1 22,812, 405
AL T = 1 22,812,405 | IEHRSE 1, 500 iR
GET (%))
TEHER TS 1, 500 {53!
GEHRT (FrR))
VEZET 5 1, 500 {53!
(AR — R HEE1)
VEZET 5 1, 500 {53!
(FFERIEER)
VEZET 5 1, 500 {53!
EEEER)
TEHRRR 1, 500 km
G4 )
TEHRRR 1, 500 km
7" Voyr2tFE)
TEHRRR 1, 500 km
7" Vst
HEE L = 1 209, 651
e LT it 1 152,444 |27~ MM L 7 m3
MRS BhlE T
av) ) - Mgy B L 4 m3
ERApIEEY) FAAE T ;
SHLE R T 6 m
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TEHEX Sy - THE - R B {7 % & A bl iR
TAT7MEZERR 15emPL T
EhAE AR AR 6 m2
TA77 VMR BEERE e m
TR AL T = 57,207 |k 7 m3
av ) -bik (BER5)
DO 4 m3
/) -hik Bk
DO 0.3 m3
TAT 7V
By 7 m3
av ) -bik (BER5)
By 4 m3
/) -hik Bk
By 0.3 m3
TAT7vhi% 2. 35t/m3 ;
% T = 2,438, 204
THEHER T = 58,520 |ff4zn-7’ 1 =
B ) T = 1,558,384 | SRR I A
ITTRY SEEIERHRRE & 9m SHRHETIAR 8.5
m EEERRAG R 8. 5m ;
G- gk L 1 X
+m 5 1 2V
fiHEE R 0 5 BHIRGEE B4) 3t ;
KT = 655, 900 | & 7" HEK 1 X
0LA 140 (m3/h) A FIRFHEK ;
AR IEE BT 2 165, 400 | AZEFHEE K B 1 =X
RN X = 74, 564, 720
IR = 8,307, 678
-7- E A2 s SN 7
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THEXSy - THE - FE5 H7 & & # i Gl 2 N
e Tre: X 1 1,376, 678
R E20 1 252, 878 | {RERAEML 1 #
Lt E20 1 133,000 |FIH RIS 1 £
EsZREgiis ¢ 2V 1 244,800 | FHHTRER 1 3
B PR SRR AT SRR 1 X
BUGBREIUEL (REH L) 2V 1 746, 000
sty (R L) 2V 1 6,931, 000
ol T 2V 1 82, 872, 398
TR e gL E20 1 33,601, 000
T AT 2V 1 116, 473, 398
— e PR E20 1 19, 576, 602
N E20 1 136, 050, 000
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